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s ToTereRs arsrar

(CTET) uiiar-2022

TR T (Class I-V)

(Shift-T)

AT Tied TUH YIA-U T &7 (ot Fafr : 06 wardt, 2023)

Child Development and Pedagogy
T TererTa Ta ToTeTmyTest

1. While at times, different domains of
development intersect in explaining human
capabilities, yet which of the following domain
of development explicitly discusses intellectual
abilities such as problem solving, critical
thinking and logical reasoning?

I fufest ®, fammma & fafisr O A=
QuaTetl Tt STET A H U Ufeese wid
g, qenfy faema &1 ®E-T 89 Y w0 9
difger  droaed S fe w@ET-wHee,
AUTATeATeR o= i arfeherar st wogaan
et YT &2

(a) Physical/TR&® (b) Motor/TTETHE

(c) Social/gmHsh (d) Cognitive/FAHIHS

Mass media, Family/SHE=R #1€H, qRaR
School, Familyfl%l'ﬂ'lﬁ?f, IRaR

Family, School/9RaR, faarer

Print media, Mass media/ﬂf?ﬁ ey, SHEER
HTEgH

Ans : (¢) IRUH TrcamEe & ST URAR FHISIHOT
& Tl b ¢ i TeaEedl % SRR 5 au §
9RaR & Ao & Wred W uRA § e i &
fodea s @ i war-fan s & JRie R g
2 9 5 mofts AR W SR, T 5, A aen
Afte i B FE I F1 e & A & oww
feramer GrTsieRtoT 1 f3diass SR 8, sifs faaem §
& S % Tgud fae S weA Ry @Rt € e
foremer aTets & qd I & T9E I9 9 Sigd § T
e F e 21 Y as 39 % §he
el & I 81

(a)
(b)
(©)
(d)

Ans : (d) 3% Refadt #, fow & fafw o7 gmdE
gaAe & e HE § R gfese & 8, a9y
forshT 1 ‘UM & I ®9 4§ slifgsh qrraarsi Sy
5 THET-guYE, SHEEAS A 3N difthehar @i
WA aaw‘w%wmmﬁwﬁamﬁwﬁ
AR gEaet (s, w6, R a9 g guEE) &
B & A 3 S SvEEer § @ A @ 9 1
TS o fashraes afshan 21

2. Development proceeds from

to
......... w AT T@AT 2
(a) head, toe/R, W
(b) complex, simple/Sifed, T
(c) extremities, centre/dTel, B
(d) specific, general/faf¥Te, dmHF=
Ans : (a) @ R 9 W i 3 5@ 81

fogia AT (Cephalocavdal) g shgerrr
ved R, i ew sl

............

1T
3
3
>
!
i+

4. As per Jean Piaget's theory, if a scheme does
not produce a satisfying result, then takes
place.

S frmw & fagia & R, 3R T& whid
e uftony & 2ar €, @ e I BT R
(a) Imitation/3AJhI0T
(b) Disequilibration/ﬂ?ﬁ?ﬂ
(c) Conservation/§&uT
(d) Zone of proximal development/fa&E
ey &
Ans : (b) STH el & fgid & STER 3R & @i
e wRum 98 % W g, d@ e I gl 2l
I & Rafd § ads & 3T T o | g9 gsd@
2 T oo % W § FF % i STEdI & Refy Seaw
T g1 S frarst J et fagid § 9R wE s &
Fufa fopar 2-
o TAE TMHE STERT (0-2 )
o 79 Tfspares srawam (2-7a)
o T HfchAT STEwAT (7-TH)
o 3T/ STu=e Withares (7-1199)
S s & fasi § e @ g9fe g e
T o A S 2|

3. During early childhood,
agent of socialisation and
agent of Socialisation.

YRIWeh STeamaeen & SR,

is the primary
is the secondary

.........

5. According to Jean Piaget's theory of cognitive
development, at which stage do children begin
to understand object permanence?

S s & gt o & fagia &
IFER, T fRE orEem § SRg T
THSAT AR HT ad &7

CTET Class (1 to 5) 2022 (Exam date 6 Ferdt, 2023 SH-I) 5
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Sensorimotor/FaE-TTH
Preoperational/{af-qmm

(c) Concrete operational/Jd-HfshaTesh

(d) Formal Operational/\?vﬁq?ﬂﬁm" HfshareTen

ns : (a) S AN & GO O & g &

FER Ted HAd-Mme e 9 T |
FRY T 30 &1 vl a=dl § a7 gHy faefd @ o
2 o5 awgell &1 e 9 ff T @ oW 3% a@l @ik
3T TE S HHAT| S It 7 31 S e &
Rrgid & =R S S P avt e 8 S e 8-

(a)
(b)

Sl SuefeEr

1. §aS e e T WifE, @,
(0-278 ) S8R FHl 34 |

2. U9 TihaTs ST | STH-HEhdl, ST
(2-7 o ) e, Ty e b b |
3. HichaTHsh A€l | ORI HHSEGA], LT
(7-11 a9 T*) T difehe A |

4. 3M9=TRE TihaTHS | ST alfcheh feiad (Abstract
AT (11-15 aH) Thinking)

6. When Raman was presented with 'Heinz'
dilemma', he responded that Heinz should not
steal the money because stealing is a crime and
doing so will cause disturbance in society. At
which stage of moral reasoning is Raman at

present?

T % W@ T W glaen’ wegd @t TSI

3= yfafrar =k it fF 3= & e =

T ST AR S AT ST ¢ 37 v

w A g ¥ ereyawen Yer efh adu

T Aferes faerma =t form srawen o 272

(a) Obedience and punishment orientation/
CUKCE

(b) Instrumental purpose orientation/ JHI EEAE)

EIRIERIE]

(©) 3T

Good boy-Good Girl orientation/
Law and order orientation/ S Td =qaedl

Affo—=am

Ans : (d) TH % 9T %ﬁrﬁgﬁm T A TS| 3G
fefsean =k s & g1 B T9 T g AR FHith
= HTT Y @ S T B @Wﬁmawﬂ‘a[
gt o & e A faeE # HrE wd

sfufe=e’ aEem § R %W%ﬁﬁmﬁw
fagid # ‘cifhs @ & Fa€N IR % I ST Bl
gt 7 709 R 1 3MUR 3 # Heare fhaden

(d)

feregeem sl =T 2 |
Note: et & Afds fGwm fHgia & &9 &) a0 =:
g foeteq &-

iy =
1. qd b | /@R 1: Wl A A
W (4 ¥ 10 | fufe=mg- =9 s@en d sos fam
a) died ¥ o= @ 98 9 @ fF Al

A4 98 & Al df g8 WS 3T
g 3fuq g % § faw faeg =
T FE|
EET 2: HIOT HU ARfa=- 39
WﬁWM%WOC‘IOI&{ {‘Clﬂl’-lﬁ
Aicifed 8T @ of: a8 Gl @ b
I qE FM T W T §, AR
T3 R i
3N 3: 3D ASH/ITR ASHl
Aff=g-39 ofawer H S 98
T & f Fbet F AWM @ a9 @
ST A AEH-ara ST g S |
A 4: A UH  HEE
Afufrarg- 39 sEwer H e T8
e ? f “Iil T e @ i
Ig g9 & e & g 217
qET 5: gHifee gfeer ififeg-
39 eyl | o g8 qradr ¢ fh
T B, Ak deee aRRefy
I STavIedl @ SR ga emER
S T T 8
FAET  6:  GEvihe  Afs g
Af=g- 7 Aftes fomra i gare
maw%wﬁwa%@am%ﬁ
et & Sfem wn ¥ e H 3w
g@ﬂﬂ%ﬁﬁ@ﬁﬁﬁgﬁzﬁwq
|

7. Which of the following statement is correct as
per Lev VygotsKky's ideas?

D AR o foERl % IgER e W 9
HIF-TT HIT T 2?

(a) Social isolation contributes to learning./
YIS HFBIBT SR & FEr el & |
Children learn best without support of others/
= WA ¥ A A o e
§ diad £

Cues and hints impede pace of learning. [
3 Heg Sy & T F iy dey e F

Cultural tools contribute to the learning

process / HiEHiish IUHL0T MM HT Afehar |
TE 2§
ns : (d) 99 T & AR & SIER WiEHhs
UK AR Y Sk H Ae 9 €1 o et
B gh fagid G G fgid & &9 § S
ST 81 3% TS B TBF YR TR AHTH fowma
1 T 2|

8. In accordance with Lev Vygotsky, which of the
following method of teaching-learning

promotes learning?
DI TENCER o AJER, fYrerer-rfie @t
e § @ wE-t faftr eftrm & wgee et

&7

2. difhsh X
(10 § 139)

3. 9g-qlfse
W (13 a9
T 3fe)

(b)

(c)
(d)

CTET Class (1 to 5) 2022 (Exam date 6 Ferdt, 2023 SH-I)
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Passive imitation/FfSha e
Cooperative learning/Hg4rit 31ferms
Expository teaching /SIS {eror
Stimulus-response conditioning
ECRERRIERINCE T
Ans : (b) TG AR % AR, Fwgo-aiferm § wganh
T 5 fafyr @ S ST B ee S 81 98 U JHN
%) et fown & o o @1 9 @1 91 W § B
AT S G A SEEROIS W o= S G adn
quEEt H GHHE QST ST a:m e e
@W%ﬁ@ﬁ%a&aﬁ{{rm%mm%ﬁm,
I 3R & I G B F Qe A B
9. Child-centered education advocates for

STeT-ohf=sa Torer ferarent argoraT st €7

(a) standardised curriculum/ATehiHd plcPee

(b) use of rewards and punishment/qi&hR 3
QUg ohl
consideration of individual differences
Fafche Frasil W e 3
inculcating entity belief of ability/?iﬁ"w B
TTETEl 7 1 G e

Ans : (¢) I Hi=d R Tgfa ¥ fen &1 = fag
i (foendf) @ar 81 areis & ®hEi, gt qen
Argaret e & oA § e & e wem R S
21 TS Ik H A (ARTE) e feEn S 2
aofq frsg ael & fou e ueasn aa 62 gfg
e % e AT e w5 2 gEenel B R
HE H YA AT AT 21 3 e hiesd en stea
fefrereneii @ ea 39 @Y e B @ SR gEd s
H gEERl B W S 5 fau A 3 ST
ferequr fepam siar 21

10. As per Howard Gardner's
intelligence, intelligence

TS MET o Tl oh (UG oh ITAR, Fqleg

(a) levels are same among all children

& Toft wreell § uHEHE W A 8

is a 'general' ability which has no biological

base/Tsh ‘WH

R T 7|

is fixed from the birth and does not get

impacted by environmental factors./STH el

feer ¢ 3R 39 W wRawia FR F FE g9

T T 2

is of many kinds and individuals possess

different levels of different intelligences./ﬁ

TR 1 B @ SR sAfhal % o fafie wer

# 9fs & fafe X a9 £

Ans : (d) 39S TER & g » fGEA & FER, S

ﬁﬂ;ﬁﬁaﬁﬁi}gﬁéaﬁﬁaﬁ%?ﬁﬁawaﬁ

qfs & fafie = | 39 fagid & FgER, dfs &

EEY THGH 7 T TgHN BT &1 e MER 7 T
TE HE G WES § A v e B oafy @

Ww%wﬁ#ﬁﬁé@mm%r’

(a)
(b)
(c)
(d)

(c)
(d)

theory of

(b)

(c)

(d)

Assertion (A) :

Socio-constructivist theories of learning
emphasize on creating print-rich environment
in the class to facilitate learning process.
Reason (R):

School climate does not play any role in
language development and language
development is entirely dependent on biological
maturation.

Choose the correct option.

MURAT (A):

ARATH T ATHTNh-TeHTaGt g Tfrm
isham i WES-GH s % few wem o
qisda-Hgg URavr & G W 9 e B

e (R):

areT ferehTe ¥ famersr & ufRar @t g it
& € iR 9w faww Ui wE ¥ Saww
ftuerarar W et grar 21

w& fawew |

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/ (A) 3R R) EE|
TE 2 3 (R), (A) F TE AT FIA 2
Both (A) and (R) are true but (R) is not the
correct explanation of (A)/(A) (R) el
e & Al (R), (A) 3 T = 78 21
(A) is true but (R) is false/ (A) & & wfeh
(R) T 21

Both (A) and (R) are false/(A) 3R (R) &t

(b)

(c)

e & Afh (R) T 21
12.

Boys are very powerful and tough, and girls
are soft and sensitive. Such statements
strengthen_

g VRISl 3R e Bd § e
a-sﬁm T iR gaeAvher et €1 3w e &
......... ®I FETET I B

(a) Gender equality/SIET FHIAT
(b) Gender equity/Siet FwaT
(c) Gender empowerment/@%’( BNIEU]
(d) Gender stereotypes/Sigt &fgaradm
(d) TSH g7 WRRIMEH R HIR Bd & adr
Wwaﬁ%@aﬁﬁ%ww%aw@
wfearfaar # ag@r 24 81 st Slediaar THmpd Rer

CTET Class (1 to 5) 2022 (Exam date 6 Ferdt, 2023 SH-I)
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I e fghy ot sgaeR @ geffa s @ S
fpet afts foem & forw sweh Sifos fofm & amER W
T S IUG AT ST @1 Si9- feensd § gwem
37T @A ¢ R IAH SRR WA, WA A Al 3R
iR e e e o2 B e s S A
ST e sl @ At A S 2

13.

Individual differences in preferred learning
styles of children should not be addressed by

weell ol Wigd rm difaat o daftee
firmraetl @t fofd yeR @ weita A& e
ST =Ty ?

(a) presenting information to them in multiple
ways/3% agfad Tlel ¥ SHHIar Ieqd Hih
giving them chances to act on information in
multiple ways / 3% gfae Tl ¥ SR
T FH B & AT THT

providing them opportunities to engage in
work using multiple ways/3% EEE] i 9
F H IMHA B o FEEL a

labelling and segregating them in multiple
ways/ 3! TgfaY Tl | ARSI (AafeAT)
T GAFHIET Bh

Ans : (d) T F wiga e wfed ¥ Safhs
firarell 1 3 agfay qde ¥ A (cEfeT) @
JFHIROT ik Halfd d fpar ST =T ifh sud
el H bRl 1 T ST o @ 3 3 W
€ wegd F o €, fgd 6 s s st
A 8 I UF e F AT 9w a=d B oIS
TH S &M H IMHA 8 H SR 2 3 adhl §
ITh A SRRET FET P T STH e e
59 fop 9 arefqul siferm o e |

14.

(b)

(©)

(d)

Assessment should be done mainly to

MR T T TET THRUT T &7

(a) induce fear among students for exams./
feranfefarl & whiem % wfer =1 a1 BT

identify their strengths and challenges to
optimise learning/3¥ferTH Gl STpetdH FH
o Rl 9wt st TfEr 9 gea
EXCIN

Promote and detain students as per their

performance./fanfdai & fsaeT &
3% ST I FHA H AT HTAT AT T AT

Assign ranks and classify students in a

hierarchical manner./fomfef=i =i goff &1 37

(b)

(©)

(d)

15.  You want to promote critical thinking among

your students. To do so, which of the following
skills should you enhance?

3y o7u faenfdei § wETereRTeR foeaT St

AT HAT =Ed 21 QT i & forg sy foey

" W foR sivtelt it dael s wma?

(a) Convergent thinking/3T N feid

(b) Self-reflection/&-fd-,/gfaferam

(c) Rote memorisation/sH3EHTuT

(d) Passive imitation/[Ffspa SR
Ans : (b) 39 79 faenfdai & gaTe=IHS o @
TIAT HA ARG & A TH FE F faw AW w@-
o/ Sfaera et 1 e FT AR | S
g et § ord afhes fiew wd Hifers Riaa &1 fawr
g 21 g s T T[T I & ST @ 3R
F TS FE H U b F AT H gy e F
16. performance of  children

disadvantaged  backgrounds in

indicates that

P A B | I A
seal @ fre-wdia e fea o d@aha
AT 872
(a) School caters to the needs of all
students/famera guft faanfiai &t smavaesarei
# SR &AM & B |
Their parents do not understand the
importance of education/3Tsh TTT-faer fomem
F A T g B
School is not responsive to needs and
abilities of all children/foamera a+ft a=ai &
VRN TH A B G A B
T |
Social environment of child is solely
responsible for child's learning /a=dl I
TS aRawr s=ai & I % foaw of T
¥ e 2

from
schools

Low

(b)

(c)

(d)

F | [s=al S avIEdre ud argarsl S Gefed Te S U

Ans : (c) fommeri ® gfaerfa gegf 9 o aret S=ai
F Fr-wda foEd a8 Had od 7 6 e 9

Fiifh TA® Tod d AEATIRA TH AT STT-3TAT
et 21 3T TH S=dl & HHIEYE & AU 9% Sl T
¥ STER T IAH FA A el b F 5
g R s Fuer s e 5 3 9 TeyE W a
eyl § WA & 9 |

17. Disability is a result of impaired interaction
between individual and social factors. Which

model of disability supports this view?

et # afiep e FE F
Ans : (b) 3T A FI T FRUT AT FHI S Herdd S o :feRamstt @t afRumy ¥ faeRerimar @
S % forw el o wfeei i wHIfE @ geEH HI-TT Gl 30 fehir et wwed T 72
HET 8 Hifh b § e & wifd @ & gar (a) Medical/fafhedia
AT ST 2| UISHhH 9§ gefed faanedf & wfa we (b) Charity/aeierdr
ST P BRI THET F, q0I v fweryor He (¢) Social/STITTH
1 G T R AR 1 Teher el ST & | (d) Human right/" T 3R
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Ans : (c) i Jafes 3R qEIHE RS & d"
e a1: fpansil 1 oRorm 81 fyebetiar 1 T’
EE T g & §wde 3@ 81 fEe ey
FERR AT qAtawolg smensd & €, S AR @ wHe §
3 W % WY TH G STER W 346 qo7 3R et
el ¥ skt 81 e sfufEm 1995 % IR
26 ¥ fabeAim S=dt B 18 T H A 9F TH IR
sifamed famem 1 SR W 2

Note:- Sk o 3 fagsl &I 7

In order to ensure successful inclusion of
students with hearing impairment, a teacher
should

ST AT o ferenfolat o |ohet AT

giafym & & fau seamus @t s &

=tee?

(a) extensively use lecture method for presenting
information/SITH&R ESi FH F oI ==
fafyr &1 efoers &9 & @M

use oral tests for assessment of
learning/31MM % eHoH & fow Hifas
TleTuTt 1 T

restrict the use of sign language in class/®&T
H ichfereh WTST o SANT b1 fme |

ensure that oral communication is
supplemented with visual representation/Jg

gHfam w5 difes =TT gvaes
TEIAHT & W IR &

Ans : (d) S0 ST aret ol & 9wa gaEwe &

@W%W@W%ﬁ%ﬁ%wmﬁ%

O YA TR § WY 9Rd @ i

AT T FTcth T 5 HIe o T W 3 W g o

90 H GT oUW F B egH AW g I YA

+ BN AT F U & A

TEYUT G H 3T B & HOT 3% GHEATH § arer I
T T8 3 ferm waifad gl

19.  Students with giftedness are likely to
sl | TR TE & WHEET
¥?

(a) lack intuitive understanding of the basics/3TH
T I B e GUE HT 379 AT 2

(b) respond much slower than their peers/3T9-
TRl @ qa H S i g gffwa
T &

c) withdraw very quickly if task is challenging/

© gg y%ﬂ%,yﬁwwﬁﬁgaﬁ%

(d) show eagerness to find solutions/HHTE

g & ¥ g1 S A 8
Ans : (d) A/ ST T 8 gUeE @eH &
T H B F GWET 1 THA F SFTHR- Traremeh
A% 98 ¢ et gfg @fw 140 ¥ Il @ ?17

(b)

(c)
(d)

AT et Io1 GorIeereh el ol 8 €, 98 S
T§ U fHad sid @ 91 M, faee S9 sed
el % @Ra qaeE GreH %Wu%ﬂwmﬁ?l

20. Which of the following provision will cause

challenges to a student having Attention Deficit
Hyperactivity Disorder?
Trrfefaa

¥ HEA-AT g v
R TEmufrRfaet feweist’ o fameff &

fore Sl wega wwom?

(a) Access to assistive technology for wrltten
assignments/feTRagd wed &t g%
STENfT % g wE

(b) Stimulating a range of senses/faf¥s Tag
SEREH

(c) Breaking assignments into small and
manageable chunks/Jad Be-BIS
TEEE TR H T AT

(d) Lecturing for long duration without an
breaks/foFT 5t e & el Srafy Eﬂé
A

Ans : (d) fomT foredt sforer & et 37afyr arel SR H

TaE  IRIE SR enwufefd ftwiEdy
forenef % fofw 9HRR YT FTW ADHD W& FEuA F
TE A1 ¢ N T 3 d T © G § 36 W@
eyoT Foret B

o {1 TI- U Siegarsll § S LTI

o W WY ¥ Td W UH Rufy fed &= o |
Hiearg, fa-afsraar &1 gl

o I @ )

o = H & |

21.  Assertion (A) :

A teacher should encourage students to

collaborate, do group work and actively

participate in cooperative learning.

Reason (R):

Learning is a social activity and students

construct knowledge collectively.

Choose the correct option.

MURAT (A):

eI kU faemfdel W wWeANTeSR

S ¥ WA &, WUE @ & 3R

AR w0 A 9F &9 & fIu Qreanfd e

=R

e (R) :

STftrTy wek |rETTeR Tiafaftr € o ferenmfofan

T UfEh Y W/ G HEAT AN

&t e g

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)./ (A) 3R R) EEl
T & 3N (R), (A) B L AT BT B

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)./ (A) 3R R) EEl
T € Al (R), (A) 3 T = 78 21
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() (A) is true but (R) is false/(A) &l & W
(R) Terd B
(d) Both (A) and (R) are false/(A) R (R) eIl
T §1
Ans : (a) 3TAS H A fFEniEi T HEATHS
A § GeA B, TYE B W N ulhg €9 9§
I o9 F U Seqfed Fr =@few) e SR U
gt fafafy 8 o feenfefi ¥ ¥ IH
goH BT AT HedrmeTs e ¥ ares § e
# wafa § gfg et ¢ aur foanfial & 9mRs w9 9
feam T I o WHE a6 @Rl a9 @l 213 (A)
3 (R) 41 W&l € 3R (R), (A) I Tl AT Ll & |
22.  Which of the following method of teaching-

learning does not value active role of students
in knowledge construction?

freror-arfinm &t o § | we-d fafa 7=

& goa # forenfefat ot wishar it =t wewa

& oot 37

(a) Behaviour conditioning/sTe@ 3TJehet

(b) Peer collaboration/SgUr3! FEHIRTT

(¢) Discovery learning /37907 SIRATH

(d) Reciprocal teaching/qeaRe e
Ans : (a) Rmegor s1fer & ‘FEER sger fafy 9 &
o | fomfiai st afsear gt it 7o T R J
W%Wﬁwﬁﬁmiﬁwﬁ%aaﬁ%
Fifeh g7 A Al § a=d s # fasiia #t

25.

In what ways should alternative conceptions
carried by students be addressed by the
teacher?

frenfifil g Ufew dwfousws  Sraumumd
LA T fRE YR Halllera st =T
wfen?

(a) Alternative conceptions should be ignored
without any discussion STFYRTAT
i Tt fohw fomr eveE #t S =R
Students should not be allowed to share any
alternative conceptions/ﬁ’iﬂf@f?ﬁ 1 B o
TER F dHCAR SEEROIE W B FH
S e 2 R

Students should be encouraged to share their
ideas and these should be discussed

thoroughly H A =R T FH
¥ foau Mefed B AT 3R 34 W FHIA
g =t T =Ry

Students should be punished for carrying
alternative conceptions./

guronSl W femr &1 & fiu qvs fiemr
RN
Ans : (c) faenfat g e defeuss sEumomd gaifea
FH & foru el g faafiel & erqa faem w@En
FH & T Teqied ST TfeT ) 54 W GHIar § ==
FE Tl g 5 el & S5« ot =& & fou
TSI g Aicdied e 21 @ fomnfeiat # amer faamg

(b)

(©)

(d)

e I & gy e € H1 ferehrey 2 2|
23.  Students learn better and Q%i:ectively by a 26. W:ﬁ.Ch. of ttl'le tf‘)“gwmg is an example of
Terameff fererer gRT SEaw T extrinsic motivation?
dra ¥? freafafea & ¥ ®F-wr o iR @
3ETIT &7
(a) Passive imitation/MSha 0T % ) o .
(b) Rewards and Punishments/q%hR 3 30g (a) ;;r%l;ng to satisfy curiosity/ ST H1 TqE
(¢) Inquiry and discovery/fRmar 3 3r=awo fe
(d) Rote memorisation/ FHeEaHTT (b) Learning to improve understanding/¥H=l Bl
Ans : (c) fEndl fmEr efR swemor g dER SR E,m%f.w . )
quEeTel 0% § Sem §1 its s &y § se (c) éearmng to win a cash prize/hs TIEHR
THa R T F TS Fr 7, TS s wfEar & fere. st ‘
RO IS ST &Il (d) Learning to master a skil/fpgi e #
24.  Which of the following hinders development of o ST H F for 2
problem-solving skills among students? Ans : (c) THE TWHR T & fou Siferm A sfsron
= ﬁ ke aﬁﬁ-wﬁmﬁiﬁr & HEEAT-THTE | |57 3e 2|
ot o foeema o anere €7 Te % IER- “IRmen Rl s @9 F, Sl
(2) Analogical thinking/3T&d i T agn FRBE H & AR 81 SIREROT A SR #
(b) Functional fixedness/Sehraics e o -
(c) Representation of problem in multiple ways | |1 37idftes AREROT 2. =T AfsROT
@ Fagaazfailﬁw-rﬁ?rq@ i HARF OBROT eI HEN B W, A
ocus on relevant information ITARY & TEvaHT
SRR el iga:” aTEl TRV % 3aIT:— [OEHR, TR, SR &2
Ans : (b) YhES R il & aowr-game - - - —
RTINS 5 L et 3 27. Saima attributes her failure to lack of ability
ST N SN and considers ability as fixed. Experiencing
AT ST qedl & I, s Remar Tu Al § EU}' repeated failure will lead to the development of
SUHOT T ITAT FT FH & P STTeF B A L in her.
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HTIUT 3Tt TG o foTg et o st

STRETET 3eel € X Iraar A T feR v

H TWE AT §| TR-IR FEHAATST T BT

AN fhT YehTT St TET ohT fereRTd shamT?

(a) Curiosity /framET

(b) Learned helplessness /3T9g=IT & Hi@n g3

g

(©) Pride /4

(d) Hope /3m=m
Ans : (b) ITFHT 7T TG & I Ao § FHH i
ITEE Seldl 8 N AvEar $ UH Rew w9 &A@
AT 81 SRR STAGAAdIS B BT SUH - TR H
diar gan a1 fawm HOMI STEEEar H G gan
9/ (Learned helplessness) T HAIGwh =woT Rorad
TS b TS FRH & BT 3 Rafed T ToRar § et
a8 &8 ¥ omwd AT § A 9% W AN ey
F 2 5 a8 Redt waen a1 S uRRefy § sew §
sgmd @ ofi gufey 98 3 wwensl & AR # g o
F H TG BT a8 Bl 2|

Fead % SHN:- “FdH I 3R A sffneT H e
F i uisear, de ol 217
SARAT I YT S ATl 3 SRR FRE T o—

o T # e ® Jfg &R

° B o gdreu]

o qRyeradr o HHfYS @
30. Learning is negatively influenced by

AT foREeh gRT AN ®0 | FoTfae
BT 37

(a) scaffolding provided by teacher/3TEaUHT R
EER RIS

feeling of hopelessness/fUeT &I ATEAT
print-rich environment in school/fa@Terd
qfsd-wg4 giaw

individualised instructions as per students
needs/ fomnffal & &t SR Jafths &9 9

feu ® SFgavH

(b)
(c)

(d)

28.  You want your students to remember certain | |[Ans : (b) FRIIT 58 AT & S eI & fewn # sE W
information. For this purpose, which of the | |qgrmers wv@ Te@r g1 FUET =5 9%emr & 3HE
2 . !
g(#g)wmg strategy should be %Med 0 Eg e g G é, Bl % oE @ TR
FIAET TR R ELte) mmm.wa’éﬁwﬁ%ss A aﬁ.
Wﬁmfﬁﬁg? e Fht & a8 3 s 7 srest weR T H 9 ¢
(a) Asking them to passively recite the same Mathematics/’l’[‘fﬁ]’ﬁ‘
many times/3qu‘ fafeha w9 @ EF)BC IR
TET % for e 1. E+zisequalt0
(b) Making connections w1th their rev10us 7 2
knowledge /3% ?f TH § TS 2 7
(c) Giving opportunities to apply knowledge to 7+EW%
real-life problems./I i Sl &t 51
gEs § AN # & FaE 3T (a) 1 by =
(d) Providing examplars and non-examplars for 14
that concept./3¥ STFHRUT ¥q SaTELTT 3N - © 3_ d) 55
IR T H | 14
Ans : (a) 39 3794 faanffel & 8 SHaER A HE 2.7
Wﬁ%lwﬁw%fw,mﬁ fferar = & fpeh| | |AnS (O o
T H B2 IR A H T Fed F aa:nzrr%m 4+49
forell dexr & f4f%pa &7 ¥ aR-aR dewe {07,2H AT = 14}
w@ﬁéw%a&mmwé 14
m%aﬁaa@mﬁwa@ﬁmxﬂ@m@ 53
fh 9% 3% ST § A & S| "1
29.  Which of the following factor is personal factor 11
which influences learning? =3 _
T ¥ HE-9 SAETT hReh ¢ S 14

ARATH ST guTferd YT €7

(a) School climate/&heit TRt

(b) Heredity/3Ta 316k

(c) Cultural context/HiEhfas dast

(d) Teacher's pedagogy/3TEATUeh! &1 FATITE
Ans : (b) wgarﬁwaw KT FRF & o AerH H
Wﬁﬁém 21 “SARrm sHeRR # AU FIHe H ThH
gfshan 81”7

2. Which of the following represents descending
order arrangement of the numbers?

frrafafaa & @ forad g ereddl &w o
aferd §7

(a) 20.2,2.20,2.022,2.02, 2.002, 0.222

(b) 20.2,2.20,2.02,2.022,2.002, 0.222

(c) 20.2,2.02,2.022,2.20,2.002, 0.222

(d) 2.02,2.002,2.20,2.022,20.2, 0.222
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Ans : (a) 30 - 9 TS H g G ¥ B
T 1 3N TEd 9 § foed 8, 99 59 37ee! &9 Hed
g1
faedl 4 Wy 8 & fawey (a) 31908 &9 ¥ @-
=20.2>2.20>2.022>2.02>2.002 > 0.222

3. Difference between the least common multiple
of 4, 5 and 6 and the least common multiple of
5,6 and 10 is:

4,5 3 6 & WAW Bl WE U 3 5, 6

3R 10 & WaH DI |E IS § 3T &:
(a) 30 (b) 60
(c) 15 (d) 45

Ans : (a) 4, 5 3R 6 F T BT TP (L.C.M) =
60

5,6 31X 10 T ¥4 BT AU (L.C.M) = 30

Y 3= =60 — 30 =30

g BT AN F 374 — 8 DI T BT wE@A S
& TR densl ¥ qu-gu e & S 8 |

4. The difference between the smallest 5-digit
number and the greatest 3-digit number is:

5-3Tehl aTelt ol BIEt &1 3T 3 -37eh! arett

T LT AT A T
(a) 90001 (b) 901
(c) 9001 (d) 9000
Ans: (c) 5 3l arell 9o BT §=A1 = 10000
3 37! aTel o JE1 G = 999
I 3T/ — 10000
-999
9001

5. What should be added to the sum of 7077, 7707
and 7007 to obtain 27777?

27777 9T &I ok fW 7077, 7707 3R 7007

TR B -7 |ISAT B2
(a) 7777 (b) 5986
(c) 5968 (d) 5698

Ans : (b) WHT (7077 + 7707 + 7007 ) § T x SheA
W AT 27777 W AT

7077 + 7707 + 7007 + x =27777

21791 +x=27777

x=27777-21791

x = 5986
6. In a school, there are 320 students, out of
which one-fourth are girls and the rest are
boys. Two-third of the number of boys are
players. The number of boys who are not
players is:
fereft feremerar ®, 320 ferameff €, = @ -
<iears ergfrat € iR 9w @geh &1 agt @t
wre & 3-foerd Raerdt #1 < fgerdt 2,
I TIgehi ol & &
(a) 80 (b) 160
(c) 40 (d 90

Ans : (a) fFome & Fa fomflai &t @eam =320
o feranfefell s § b weré ergfena @

. ) 1
ASiRal o HGAT = 320 x — =
4
TSH! I @A = 320 — 80 = 240
. 2
S ofes Raarel 8, 399 €& = 240 x — = 80x2 =160
3

Ia: S Raers! 98 8, 39 ool H FE& = 240-160=80

7. A taxi meter shows charges of T40 for the first
two km of journey and %15 for every
subsequent km travelled. Mohan pays ¥190 as
fare to travel from his house to his office. How
far is his office from his house?

Teh Sordt o1 et uger 2 femtlt. &t am & fou
T40 T WTST Te@Tar & 3R 3Weh @ne wfer fedt.
T I & AT 215 1 et foaTar €)1 ue |
U TX W 3UA IMRE &l AT o e 2190
fortren foom SEeh WX ¥ Sk AfftRd &t gl
fepart 2
(a) 12km (b) 13 km
(¢) 14km (d) 10 km
Ans : (a) 2 km 1 I & foIw srer =T 40
T I % AT 7= T = 190 — 40 =T150
1 km & 2 & forw amgt =315

15 H S & = 1 km

80

. 1
S Z150H S¥M = — x150=10 km

15
T Higd & R Y AfRT A g =10+2=12km

8. A bucket is %th filled with water. Another 15

L of water is needed to fill the bucket to its
brim. What is the capacity of the bucket?

@mﬁ%%mﬁvﬁﬁ‘%lmaﬁww
Tt @ = & T 15 wfer urr @t el
STTEYIhAT | AT el LTRar o= &7

(a) 21L (b) 14L

() 28L (d 7L

Ans:(a)mﬁﬁﬁqﬁﬁﬁﬂm—% qnT

@TE/ﬂ‘ﬂFTZl—EZE
7 7

% qNT gl 9 % T 3avas gl @ qEr = 15 L

37: wﬁaﬁfﬁaﬁmﬁm—wx%—zu

9. A train started from station A at 17:40 and
reached station B at 22:15 on the same day.
The time taken by the train for the journey is
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Teh ITTEr RIF A ¥ 17:40 o wlerell & e
Ry B W SHT fa 22:15 o Ugerdt &)1 Jewmet
BRI AT § oW W9 ¥

(a) 2 hours 35 minutes/2 5 35 e

(b) 3 hours 35 minutes/3 &2 35 e

(¢) 4 hours 35 minutes/4 52 35 fie

(d) 5 hours 35 minutes/5 %2 35 fam e

Ans : (¢) {TME & ©IF A 9 Fo- & 999 = 17:40

PM

IAME F RIA B W TAA H T = 22:15 PM

TS B AR W A WA = 22:15 — 17:40
=4:35fie a1 4 e 35 fime

A 90 cm long wire is bent to form a rectangle.

If the width of this rectangle is 15 cm, what is
its area?

Teh 90 Y. Tt Al WGt Teh 3T T

wy fean om afy smea i e 15 A §

AT SHRT SSReT T &7

(a) 300 cm’

(c) 240 cm’
Ans:(b)ﬁREﬁWﬁ:%cm
ARl TSR AT a7 W, 3TFd T IRA

2(1+b)=90 cm
2(1+15) =90 cm (& 8, =teE (b) = 150)

10.

(b) 450 cm®
(d) 480 cm’

21+30=90
21=60
L=30
3 ST H &FTHA =1 x b
=30x15
=450 cm’
11. The number of degrees in four and two-third
right-angles is how much more than 395?
=R 3t q-fererd wwemivit o fefire =t d@en
395 ¥ feRart 3Tfereh 272
(a) 35 (b) 40
(c) 20 (d) 25
Ans: (d) 91 3R 2 foer wepion & el &t g
= (4 + zj x90
3
= E>< 90
3
= 14 x 30
=420
3 3T HE&A =420 - 395 =25
12. Identify the shape with the following
properties:
T Tunt et steRfa it wEETe witwT:

(1) Ithas 4 sides. /39! 4 qeTC |

(2) Itisa closed figure./€ s a5 SATHM 21

(3) It has opposite sides parallel and equal /3G
g e SR SR A |

(4) All its angles are of 90°.

Tgeh Tt o1 90° % 21
Rectangle only/%?f AId
Square only/%?oﬂ it

Rectangle or Square/3™d AT it

Rhombus only/&ac BEEGE |

(a)
(b)
(c)
(d)

ns : (c)axra?raﬁtaﬁ%w:-
(1) S 4 e Bt &
(2) ¥ TF % P 3|
(3) T T Y e SR FH SAft 2|
(4) T Tt F10T 90° F B T
13.

Following are the marks obtained by 25
students in Mathematics:

25 feremfii=n gwT T ® wTwies e faw T §:
16,36,45,47,30,22,34,35,39,40,37,28,47,31,33,
38,42,44,49,39,27,40,35,43,33

How many students obtained marks between
32 and 42?

32 3R 42 & oo 3ie e o arelt ferenfedat
&t WA feRat R

(a) 11 (b) 12

(c) 13 (d) 14

ns : (b) 25 foEnfefat & o & & TR A H for